int start()

{
int limit = Bars - IndicatorCounted(); <«— (1)

//FPEHROEH
for(int i= 0; i < limit; i++)
{

Middle[i] = iCustom(NULL,0,"HMA",MA_Period,0,i); €4— 77
Middle[i] = NormalizeDouble(Middle[i],MarketInfo(Symbol(),MODE_DIGITS)); €— -1
¥
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for(i = 0; i < limit; i++)
{

double Sigma = 0;
double Sum_1 = 0; V4
double Sum_2 = 0;

for(int j = i; j < i + MA_Period; j++) |

{
Sum_1 += MathPow(Close[j],2); |&— -1
Sum_2 += Closel[j];

¥
Sum_2 = MathPow(Sum_2,2); €4— J

double Value = ((MA_Period * Sum_1) - Sum_2) / (MA_Period * (MA_Period - 1)); €4— T
Sigma = MathSqgrt(Value); €— 7
Upper[i] = Middle[i] + Multiplier * Sigma; €4— JJ

Upper[i] = NormalizeDouble{Upper[i],MarketInfo(Symbol(),MODE_DIGITS));, €4— =
¥
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for(i = 0; i < limit; i++)
{ =
Sigma = 0;
Sum_1 = 0;
Sum_2 = 0;
for(j = i; j < i + MA_Period; j++)
1
Sum_1 += MathPow(Close[j],2);
Sum_2 += Close[j]; <+ 7
}

Sum_2 = MathPow(Sum_2,2);

Value = ((MA_Period * Sum_1) - Sum_2) / (MA_Period * (MA_Period - 1));

Sigma = MathSqrt(Value);

Lower[i] = Middle[i] - Multiplier * Sigma; <4— -
Lower[i] = NormalizeDouble(Lower[i],MarketInfo(Symbol(),MODE_DIGITS)); €4— =
¥

return(0);
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